OCT 2 2 2012

CAPE ELIZABETH SCHOOL DEPARTMENT **EXTRA CURRICULAR POSITION**

DATE:

10/2/10

TO:

Cape Elizabeth School Board

FROM:

Scott Labbe

RE:

Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet,
Joe Doone	8th Boys Basketball	į	153.6	2227.20	# 2227.20	School	No	No	
Joe Doane	Ms Indoor Track		120	1740.00	1740,00	3chool	No	Yes	Market by the second se
Sarah Sullivan	8th Girls Basketball	S	153.6	2827.20	4 2827.80	3chool	No	No	
Christopher Drake	7+8 Swim			1409.40		School	No	NO	
Dan Soule	7th Boys Basketball		ì		# 2227.20		NO	NO	

[.] Joe is returning to the indoor track program. He has many years of valuable experience.

CAPE ELIZABETH SCHOOL DEPARTMENT **EXTRA CURRICULAR POSITION**

7 2 2 2012

DATE: 10 / 18/12

TO:

Cape Elizabeth School Board

FROM:

Scott Labbe

RE:

Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
AnnMarie Dionne	MS Indoor Track		120	1740.00	1740.00	School	No	No	
			······································						

CAPE ELIZABETH SCHOOL DEPARTMENT EXTRA CURRICULAR POSITION

NOV 0 2 2012

DATE: 10/30/12

TO: Cape Elizabeth School Board

FROM: Scott Labbe

RE: Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet
Jani Murphy	7th Girls Basketball		153.6	2227.20	2,227.20	School	No	Yes	
	٠ , ،		·			a		· · · · · · · · · · · · · · · · · · ·	!
			-						
	100000000000000000000000000000000000000	***************************************							****
									A-banania and a second a second and a second a second and

· Jani has a master of education in Physical Education from Boston University and a master of education in Sport Management from Endicott College. She has coached middle school basketball in Massachusetts. She is currently Coaching JV softball and Soccer at South Portland High School.

CAPE ELIZABETH SCHOOL DEPARTMENT **EXTRA CURRICULAR POSITION**

DATE: November 7, 2012

TO: Cape Elizabeth School Board

FROM: Scott Labbe

RE: Recommendation for Extra Curricular Position(s)-Winter 2012-13

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)	"If yes, provide a brief description of qualifications below or on a separate sheet.
Leslie Young	Exp Girls' Basketball	1	120	14.50	1,740.	School	N	Y	Leslie most recently coached JV field hockey.
						· · · · · · · · · · · · · · · · · · ·			

<u> </u>									
THE RESERVE OF THE PERSON OF T									
									,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

CAPE ELIZABETH SCHOOL DEPARTMENT

EXTRA CURRICULAR POSITION

DATE: October 23, 2012

TO: Cape Elizabeth School Board

FROM: Jeff Thoreck

RE: Recommendation for Extra Curricular Position(s)-Winter 2012-13

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)	"If yes, provide a brief description of qualifications below or on a separate sbeet.
	V. Boys'								
Jim Ray	Basketball	4	408	14.5	6,507.60	School	N	N	
	J.V. Boys'								
Thomas Ray	Basketball	3	336	14.5	4,872.00	School	N	Y	See below
	First Team Boys'								
Conor Lawler	Basketball				2,500.00	Boosters	N	Y	See below
	Varsity Indoor								
Doug Worthley	Track (G&B)	4	263.5	14.5	4,202.83	School	N	N	
Greg Marles	Asst. Indoor Track	3	156	14.5	2,262.00	School	N	N	
Amber Cronin	Asst. Indoor Track	3	156	14.5	2,262.00	School	N	N	
Ben Raymond	Varsity Girls' & Boys' Swimming/Diving Asst. Girls' &	4	402.9	14.5	6,426.26	School	N	N	
David Croft	Boys' Swimming/Diving	3	255.6	14.5	3,706.20	School	N	N	
Mike Bartley	Diving Coach	3	175.2	14.5	?	Boosters	N	N	

CAPE ELIZABETH SCHOOL DEPARTMENT

EXTRA CURRICULAR POSITION

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)	*If yes, provide a brief description of qualifications below or on a separate sheet.
	Varsity Boys' Ice								
	Hockey Head								
Matthew Buotte	Coach	3		14.5	5,513.63	School	N	Y	See below
	Asst. Varsity Boys'								
Kevin Guimond	Ice Hockey	3	~~~~		4,071.60	School	N	N	
	Varsity Girls'	***							
Chris Roberts	Basketball	3	408	14.5	5,916.00	School	N	N	
	J.V. Girls'								
Tom Robinson	Basketball	3	336	14.5	4,872.00	School	N	N	
	Asst. Girls'	***************************************							
Jay Casterella	Basketball	3	~~~~		2,000	Boosters	N	N	
	Varsity Nordic Ski	3	232	14.5	3,712.00	School	N		
Deven Morrill	Asst. Nordic Ski	3				Boosters	N	N	
	Varsity Girls' Ice	-							
Bob Mills	Hockey	3	288	14.5	4,176.00	School	N	N	
	Varsity Girls' Ice				THE COMMENTS OF THE				
Corey Hanson	Hockey Asst.	3			1,400	Boosters	N	Y	See Below
Shawn Guerrette	Alpine Ski Coach	3	230.4	14.5	3,340.80	School	N	N	
Claude Lemelin	Alpine Skiing Asst.	3	230.4	14.5	3,000	Boosters	N	Y	See Below
Jeff Davis	Alpine Skiing Asst.	3			1,000	Boosters	N	N	

Boys' Basketball – J.V. Coach

Thomas Ray is a graduate of CEHS and a 2012 graduate of St. Joseph's College of Maine. He is a former CEHS basketball player and played 4 years at SJC. He will bring his knowledge of the game and great enthusiasm to the CEHS program.

Boys' Basketball - First Team Coach -

Conor is a graduate of CEHS and former basketball player as well. Conor will be a great asset to the program.

CAPE ELIZABETH SCHOOL DEPARTMENT **EXTRA CURRICULAR POSITION**

Boys' Varsity Ice Hockey

Matthew Buotte is a graduate of Westbrook High School and Bridgton Academy as well as a college graduate of University of New England. Matthew played hockey in both high school and college. His coaching experiences include working with the Maine Renegades (Bantam), Hebron Academy as well as Huskies Youth Hockey. We are pleased to have Matthew join our coaching staff.

Girls' Ice Hockey Assistant

Corey is a graduate of University of Sioux Falls and Benidji State University with Degrees in History Education as well as Special Education. Corey has coached High School hockey in Montana and will be a nice addition to the Girls' Ice Hockey program.

Alpine Skiing Assistant